



Vendor Ranking

Page 1 of 1

Letting: 03201008 October 08, 2020 02:00 PM **Call Order:** 002 **Contract:** E3U17-R0

District: District 3 Counties: HOLMES, Fed Aid No: N/A

Contract Time: 12/31/21 COMPLETION DATE WALTON, WASHINGTON Project(s): 42214327248 (*)

Contract Desc: PONCE DE LEON MAINTENANCE - MOWING

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	K&W MOWING LLC	Non Responsive	Non-Winning Bid	\$197,060.65	100.00%
2	T & D MOWING LLC	Responsive	Winning bid	\$215,981.58	109.60%
3	H.B. HIRT, INC.	Responsive	Non-Winning Bid	\$217,019.12	110.13%
4	JT RUBY CONTRACTING SERVICE INC	Responsive	Non-Winning Bid	\$247,438.77	125.56%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





Tabulation of Bids

Page 1 of 3

Letting: 03201008 October 08, 2020 **Call Order:** 002 **Contract:** E3U17-R0

District: District 3 Counties: HOLMES, Fed Aid No: N/A

Contract Time: 12/31/21 COMPLETION DATE WALTON, WASHINGTON

Project(s): 42214327248 (*)

Contract Descr: PONCE DE LEON MAINTENANCE - MOWING

The work under this Work Document-driven Contract consists of routine mowing of grassed and vegetated roadside areas along Interstate 10 (State Road 8), also includes mowing a ten foot strip along Interstate fence and Tier 2 mowing up to twice a year in Holmes, Walton, and a portion of Washington Counties as shown in the Appendices. Hand labor may be required to perform the specified work in certain areas. Hand labor shall be considered incidental to the type of mowing being performed. Maintenance of Traffic and Mobilization are incidental to the pay items listed.

Line No / Item ID	Alternate	Quantity	(1) K&W MOWING LLC		(2) T & D MOWING LLC		(3) H.B. HIRT, INC.	
Item Description		Units					. ,	
() indicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACHINE MOWING (AC								
0005 E104 4 1 MOWING (F MACHINE)	REGULAR/LARG	7,375.230 SE AC	17.94000	132,311.63	26.00000	191,755.98	17.48000	128,919.02
0010 E104 4 2 MOWING (SLOPE)		421.740 AC	98.50000	41,541.39	44.00000	18,556.56	98.00000	41,330.52
0015 E104 4 4 MOWING (INTERMED	IATE MACHINE)	236.210 AC	98.25000	23,207.63	24.00000	5,669.04	198.00000	46,769.58
	EMACHINE Sec WING (AC)	tion Totals:		\$197,060.65		\$215,981.58		\$217,019.12
	Contract Gran	nd Totals:		\$197,060.65		\$215,981.58		217,019.12





Tabulation of Bids

Page 2 of 3

Letting: 03201008 Oct	ober 08, 20	20 Cal l	Order: 002		Contract:	E3U17-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) JT RUBY CO SERVIC					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACHINE MOWING (AC							
0005 E104 4 1 MOWING (REGULAR/LARGE MACHINE)	7,375.230 AC	24.00000	177,005.52				
0010 E104 4 2 MOWING (SLOPE)	421.740 AC	125.00000	52,717.50				
0015 E104 4 4 MOWING (INTERMEDIATE MACHINE)	236.210 AC	75.00000	17,715.75				
0001 LARGE MACHINE Section MOWING (AC)	on Totals:		\$247,438.77		'		
Contract Grand	d Totals:		\$247,438.77				
JJ dot Grane							



11/12/2020

Tabulation of Bids

Page 3 of 3

Letting: 03201008 October 08, 2020 **Call Order:** 002 **Contract:** E3U17-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.